Year 4 Mrs Kitching’s Group Arithmetic Homework 17
Complete by 03/02/202I

Complete the 2 times table:

2x 2=4 |x2=2 10x2=204x2=2%8

S x2=10 6x 2= 3x2=(L Illx2=22

12 x 2 =2¢ 8 x 2= 9x 2= 7 x 2=Ig

2 60 - 37 =

23

‘3 8+4+2+6=

20

Answertl'xeseaddjhbns,f
S+ 9= 1y
So 50 + 90 = 40O

5 3x5




IfIWW24+38=62u33U'“3f0fﬂmﬂmegaps
62-[ 26 | =24

L2 |- 24 =38

N |

Order these numbers, from smaUeé st to Lafges}" |

52 42 36 I8 93 48
e 3 L2 43 Sa 93

Wréteﬂlemis.smgruunberson&usnumberwme:

T T T T T T 11

0 iy 113 1w 15 6 || 18 19

20

Tick which of these is true (there are more than one
correct)

75 has...

Place value Tick if true

75 ones v

75 tens

/ tens v’

Solve these fraction cal.w.lahuns,

~




I2 | Name the shape and co the properties table:
NCUTLG Of sh.ape '—r( \~0/\3‘-e
Numher of sides 2,
Number of faces |
Number of vertices i
I3 | Draw a pair of parallel lines
| 4 Completeﬂ'n.efoll,owmg
3x 5 =175 7 x5= 35 9 %5 = Il
9 x 5 =g 6 x 5 = 30 Il x 5§ = s
Round these numhers:
6|1 (to the 10 before) L o
151 12/8] |(to the next 10) 30
3/9| |(to the next 10) | = O
16 | Measure this line in cm
3 S em
17 Victorwatttoashopwldboughtaburmhofmups.for Slp

an.d.abxmchofdaisiesfor 19p. Whatdmngedid,hzget
from £1?

S+ V=2 7o s

\ | ool - HO 5|0 & |

(

?DOF.
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A farmer s.eLstags,ofpears Thereare7pearsinea.ch
hag. Howrrwnybagsdoes,heneed.to sell for an order

\_,Of 70 p.ea(s?

I o ~F

1O

%L W emm oo,

mpLeteHus;taﬂychmtbyfdhngmthetaL&eswzd.

| 19

requency that are missing:
Children’s favourite Tally Frequency
food
Pizza. WM | 22
Chicken nuggets Wy pryr | 27
Sausages W 13
Spaghetti bolognaise |uur v pu ) 16

22 Answer these questions hased on the data ahove:

) How many children were asked in total? ¢

2) How many more children like pizza than sausages? 9

3) How many children like spaghetti holognaise or
chicken nuggets? {2




